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Rajasthan Public Service Commission ­ 2016

Paper : Sociology­I
Ques: 150
Time: 3 Hours

Ques # :1

Who is the author of the book 'Social Thought from Lore to Science' ?
1) Alex Inkels
2) Peter Berger
3) C. Wright Mills
4) Howard Becker

' सो䆍�शअल थॉट 㾀�ॉम लोर टू साइसं ' प䗫㎀तक के लखेक कौन ह ै?
1) एल/ेस इकं-स
2) पीटर बज耈Ȅर
3) सी. राईट 彥条म-स
4) होवाड耈Ȅ बकेर

Ques # :2

' Sociology is the science of Institutions '
1) Maciver
2) Bogardus
3) Durkheim
4) Sorokin

' समाजशा䗫㎀섷䠀 स䗫㎀थाओ का 䈴व�ान ह ै' यह 䈟ꐀकनका 䈴वचार ह ै?
1) मकैाइवर
2) बोगाड耈Ȅस
3) दखु敬敓म
4) सोरो⤧牥कन

Ques # :3

An acephalous society is one in which ­
1) Mambers have low intelligence
2) There is no formal head.
3) There is no political system
4) Anarchy prevails

䆍�शरोह䆈�न समाज वह ह ै, िजसमे
1) सद.य捥汥 म捯搨 बौ祴献楰‽कता 	यनू होती है
2) कोई औपचा汥卹रक म扭畮खया नह⁮尽 ंहै
3) कोई राज汴楴न汴楴तक �यव.था नह⁮尽 ंहोती
4) अराजकता �या3त होती है

Ques # :4

Whose accepted the term culture refers to a ' Social Heritage' ?
1) Lisley White
2) Broom and Selznick
3) Hoebel
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4) Kinsley Davis

䈟ꐀकसन ेस䗫㎀कृ䆈�त को ' सामािजक 䈴वरासत ' 䗫㎀वीकार 䈟ꐀकया ह ै?
1) ल.ेल⁮尽 �हाइट
2) �मू एव ंस-ेज汴楴नक
3) हॉबल
4) ⤧牥कं(सल ेड祴献वस

Ques # :5

Whose are not related with formal school of sociology ?
1) Georg Simmel
2) Toennies
3) Sorokin
4) C. Bougle

कौनसा समाजशा䗫㎀섷䠀ी 䗫㎀व￱�पा�मक 䈴वचारधारा स ेस�ब䆈�धत नह䆈� ंह ै?
1) जॉज耈Ȅ 彥条समले
2) टॉनीज
3) सोरो⤧牥कन
4) सी. बगूल

Ques # :6

Who has developed the concept of "Binary ­ oppositions" is structural analysis ?
1) Merton
2) Parsons
3) Nadel
4) Levi Strauss

सरंचना के 䈴व䆈�लषेण म� ' दोहर े䈴वपय䊳몀य ' क遨� अवधारणा 䈟ꐀकसन े䈴वक䆍�सत क遨� ?
1) मट耈Ȅन
2) पारस	स
3) नाडले
4) लवेी .8ॉस

Ques # :7

The opposite of Ethnocentrism is :
1) Cultural Relativism
2) Xenocentrism
3) Neo Centrism
4) Cultural imperialism

सजंा䆈�त केि䆈�䍑렠तता का 䈴वपर䆈�त ह ै?
1) सा.ंकृ汴楴तक साप ेवाद
2) 祴献वदशे केि	�तता
3) नव केि	�तता
4) सा.ंकृ汴楴तक सा�ा)यवाद

Ques # :8
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Which of the following is not matched correctly ?
1) Reference Group ­ R.K. Merton
2) Human Group ­ Max Weber
3) Primary Group ­ C.H. Cooley
4) Out Group ­ W.G. Sumner

䆈�न�न म� स ेकौन सा य�ुम सह䆈� नह䆈� ंह ै?
1) स	दभ耈Ȅ समहू ­ आर. के. मट耈Ȅन
2) मानव समहू ­ म/ैस वबेर
3) :ाथ彥条मक समहू ­ सी. एच. कुले
4) बा�य समहू ­ ड,ल.ू जी. समनर

Ques # :9

1) a­1 , b­2 , c­3 , d­4
2) a­4 , b­1 , c­2 , d­3
3) a­3 , b­2 , c­4 , d­1
4) a­2 , b­3 , c­1 , d­4

1)  a­1 , b­2 , c­3 , d­4
2)  a­4 , b­1 , c­2 , d­3
3)  a­3 , b­2 , c­4 , d­1
4)  a­2 , b­3 , c­1 , d­4

Ques # :10

Levirate is a ­
1) Form of caste interaction
2) Form of contractual relationship
3) System of Marriage
4) Type of religious ritual

लवेीरटे ह ै­
1) एक :कार क畣潤 जा汴楴त अ	तः ⤧牥6या
2) एक :कार का स祴献वदा4मक स	ब	ध
3) 祴献ववाह क畣潤 :था
4) एक :कार का धा彥条म耈Ȅक अन�ुठान

Ques # :11

Who has written the book " The Future of Marriage" ?
1) Jessie Bernard
2) G.P. Murdock
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3) C.H. Cooley
4) H.M. Johnson

" The Future of Marriage" नामक प䗫㎀तक 䈟ꐀकसन े䆍�लखी ह ै?
1) जसेी बना耈Ȅड
2) जी. पी. मरडॉक
3) सी. एच. कूल⁮尽
4) एच. एम. जॉनसन

Ques # :12

Which one of the following is not included in Auguste Comete's three stages of social evolution ?
1) Theological
2) Metaphysical
3) Industrial
4) Positive

अग䗫㎀त क⌀ਐत के सामािजक उ�䈴वकास के तीन चरण� म� 䆈�न�ना䈟ꐀकत म� स ेकौनसा शा䆍�मल नह䆈� ंह ै?
1) दवेशा.9ी
2) अ桴摩धभौ汴楴तक
3) औ⁝❮यो桴摩गक
4) :4य वाद

Ques # :13

Which of the following is not types of society described by Mike O' Donnall ?
1) Traditional
2) Modern
3) Industrial
4) Post Modern

䆈�न�न䆍�ल䇛खत म� स ेकौन स ेसमाज के 䆈�कार का उ�लखे माइक ओ डोनले न ेनह䆈� ं䈟ꐀकया ह ै?
1) परपंरागत
2) आध汴楴नक
3) औ⁝❮यो桴摩गक
4) उ4तर आध汴楴नक

Ques # :14

Three paths to a definition of sociology described by Alex Inkels does not include ­
1) The Critical Path
2) The historical path
3) the analytical path
4) The empirical path

समाजशा䗫㎀섷䠀 क遨� प�रभाषा हते ुएल栘ेस इकं�स �वारा 䈴वव䆈े�चत तीन पथो म� सि�म䆍�लत नह䆈� ंह ै?
1) आलोचना4मक पथ
2) ए汴楴तहा彥条सक पथ
3) 祴献व�लषेणा4मक पथ
4) आनभु祴献वक पथ
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Ques # :15

Auguste Comte's book " Positive Polity" is ­
1) 2 Volume
2) 4 Volume
3) 5 Volume
4) 6 Volume

आग䗫㎀त क⌀ਐत क遨� प䗫㎀तक " पॉिज䇢切टव पो䆍�लट䆈� " म� ह ै­
1) 2 खडं
2) 4 खडं
3) 5 खडं
4) 6 खडं

Ques # :16

" A community is total organization of social life" is the statement given by ?
1) Ogburn and Nimkoff
2) Kimball Young
3) Kingsley Davis
4) MacIver and Page

' समदुाय सामािजक जीवन के स�पणू䊳몀 सगंठन का नाम ह ै' यह कथन 䇢切दया ह ै?
1) ऑगबन耈Ȅ व ्汴楴नमकॉफ़
2) ⤧牥क	बाल यगं
3) ⤧牥कं(सल ेड祴献वस
4) मकैाइवर व ्पजे

Ques # :17

Who has written the book " Contemporary India and its Modernisation" ?
1) O.M. Lynch
2) Andre Beteille
3) S.C. Dube
4) Y. Singh

'" क䆈�ट�परर䆈� इ䉦ं退डया एडं इ䗫㎀स मॉडना䊳몀इजशेन " प䗫㎀तक 䈟ꐀकसन े䆍�लखी ह ै?
1) ओ. एम.् ⤧牥फंच
2) आ�ं ेबतेइे
3) एस. सी. दबुे
4) वाई. 彥条सहं

Ques # :18

Acceptance of cultural goals and rejection of institutional means is called ?
1) conformity
2) Innovations
3) Rebellion
4) Ritualism

सा䗫㎀कृ䆈�तक ल￰栘य� को 䗫㎀वीकार करना एव ंस䗫㎀थागत साधन� के अ䗫㎀वीकार करन ेको 䆈�न�न䆍�ल䇛खत म� स े栘या कहा
जाता ह ै?
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1) अन潩瑰पता
2) नवाचार
3) 祴献व�ोह
4) स.ंका汥卹रकता

Ques # :19

Which is not the basic element of culture ?
1) Symbols
2) Values
3) Relationship
4) Norms

कौनसा उदहारण स䗫㎀कृ䆈�त का आधार त�व नह䆈� ंह ै?
1) सकंेत
2) म-ूय
3) स	ब	ध
4) मानक

Ques # :20

In which Book Karl Mannheim given the concept of Direct and Indirect control ?
1) Ideology and Utopia
2) Man and society
3) Diagnosis of our time
4) None of these

䆈��य￰栘 और अ䆈��य￰栘 䆈�नय섷䠀ण क遨� अवधारणा काल䊳몀 मनै䇢切हम न ेअपनी 䈟ꐀकस प䗫㎀तक म� द䆈� ?
1) आइ眮敬डयोलजी ए�ड यटूो祴献पया
2) मनै ए�ड सोसायट⁮尽
3) डाय(नो彥条सस ऑफ़ अवर टाइम
4) इनम ेस ेकोई नह⁮尽ं

Ques # :21

Classificatory and descriptive terminology in Kinship is given by ?
1) Majumdar
2) Morgan
3) Murdock
4) Tylor

नातदेार䆈� म� वगा䊳몀�मक व वणा䊳몀�मक स�ंाए द䆈� ह ै?
1) मजमुदार ने
2) मॉग耈Ȅन ने
3) मरडॉक ने
4) टायलर ने

Ques # :22

Who explain the direct and indirect co­operation ?
1) Green
2) Leslie
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3) Maciver and Page
4) Gillin and Gillin

䆈��य￰栘 व अ䆈��य￰栘 सहयोग क遨� 䊫㪀या�या 䈟ꐀकसन ेक遨� ह ै?
1) �ीन
2) लसेल⁮尽
3) मकैाइवर व पजे
4) 桴摩ग彥条लन और 桴摩ग彥条लन

Ques # :23

The Jajmani system of rural India was basically ­
1) Exchange of services
2) Inter­caste relationship
3) Both Exchange of services and Inter­caste relationship
4) None of these

�ामीण भारत क遨� जजमानी प䌍讀䆈�त 䆈�धान ￱�प स ेथी ­
1) सवेाओ का आदान :दान
2) अतंजा耈Ȅतीय स	ब	ध
3) सवेाओ का आदान :दान व अतंजा耈Ȅतीय स	ब	ध दोन捥汥
4) इनम ेस ेकोई नह⁮尽ं

Ques # :24

The most essential characteristic of Indian caste system is ?
1) its endogamous nature
2) its occuapationwise division
3) restrictions on interpersonal
4) the idea of divine origin

भारतीय जाती 䊫㪀यव䗫㎀था का सबस ेअ䆈�नवाय䊳몀 ल￰栘ण ह ै?
1) उसक畣潤 अतं祴献व耈Ȅवाह⁮尽 :कृ汴楴त
2) उसका �Vवासायनसुार 祴献वभाजन
3) अतंव祲敵याि/तक स	ब	धो पर :汴楴तब	ध
4) द祴ै献वक उ4पि4त का 祴献वचार

Ques # :25

Who is the author of ' First Principles ' ?
1) Durkheim
2) Spencer
3) Auguste Comte
4) Hegel

" फ䗫㎀ट䊳몀 䈴䆈�䆍�सप�स " नामक प䗫㎀तक के लखेक कौन ह ै?
1) दखु敬敓म
2) .प	ेसर
3) अग.त क慰⌧त
4) ह⁮尽गल
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Ques # :26

' Sociology is the science of society or of social phenomena. ' , Whose view is this ?
1) Lester F. Ward
2) Durkheim
3) Peter Berger
4) Maciver and Page

" समाजशा䗫㎀섷䠀 समाज का या सामािजक घटनाओ का 䈴व�ान ह ै" , यह 䈟ꐀकनका 䈴वचार है
1) ल.ेटर एफ. वाड耈Ȅ
2) दखु敬敓म
3) पीटर बज耈Ȅर
4) मकैाइवर व पजे

Ques # :27

When a girl of the higher caste is married to a boy of the lower caste , the system is known as :
1) Couvade
2) Anuloma
3) Pratiloma
4) Sororate

जब उ�च जा䆈�त क遨� लड़क遨� का 䆈�न�न जा䆈�त के लड़के स े䈴ववाह होता ह ै, 䆈�न�न䆍�ल䇛खत म� स ेयह 䊫㪀यव䗫㎀था 栘या
कहलाती ह ै?
1) सह :स祴献वता
2) अनलुोम
3) :汴楴तलोम
4) साल⁮尽 जीजा 祴献ववाह

Ques # :28

Who said that , " Social control is an extension of the socialization process. "
1) J. H. Fichter
2) Horton and Hunt
3) Parsons
4) E.A. Ross

यह 䈟ꐀकसका कथन ह ैक遨� , " सामािजक 䆈�नय섷䠀ण समाजीकरण क遨� 䆈�䈟ꐀ�या का 䈴व䗫㎀तार ह ै"
1) ज.ेएच. ⤧牥फ/टर
2) हाट耈Ȅन व हटं
3) पारस	स
4) ई.ए. रॉस

Ques # :29

According to Durkheim , which of the following is an index of organic solidarity ?
1) Restitutive Law
2) Repressive Law
3) Homogeneity
4) Collective Conscience

दखु顑�म के अनसुार 䆈�न�न䆍�ल䇛खत म� स ेसावयवी एकता का कौन सा सचूक ह ै?
1) सधुारा4मक काननू
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2) दमनकार⁮尽 काननू
3) सम潩瑰पता
4) साम潴捥हक चतेना

Ques # :30

Who has given concept of " Cultural Reproduction " ?
1) Merton
2) Parsons
3) Giddens
4) P. Bourdieu

' सा䗫㎀कृ䆈�तक पनु��पादन ' क遨� अवधारणा 䈟ꐀकसन े䆈�䆈�तपा䇢切दत क遨� ?
1) मट耈Ȅन
2) पारस	स
3) 桴摩ग眮敬ड	स
4) पी. बोर䵰潴यू

Ques # :31

Cultural lag means ?
1) Lag between cultures of two societies
2) lag between material culture and non material culture
3) Lag between past and present cultures
4) Lag between western and eastern cultures

सा䗫㎀कृ䆈�तक 䈴वल��ना का अथ䊳몀 ह ै?
1) दो समाजो क畣潤 स.ंकृ汴楴त के म�य 祴献वल	,ना
2) भौ汴楴तक और अभौ汴楴तक स.ंकृ汴楴त के म�य 祴献वल	,ना
3) भतू और वत耈Ȅमान स.ंकृ汴楴तय捥汥 के म�य 祴献वल	,ना
4) पि�चमी और पवू敬敓स.ंकृ汴楴तयो के म�य 祴献वल	,ना

Ques # :32

Which one of the following is not an example of ascribed status ?
1) Status as a Brahman
2) Status as a Doctor
3) Status as a Doctor's Son
4) Status as a Son

䆈�दात 䆈�ि䗫㎀थ䆈�त का 䆈�न�ना䈟ꐀकत म� स ेकौन सा उदहारण नह䆈� ंह ै?
1) एक �ा�मण के 潩瑰प म捯搨 :ि.थ汴楴त
2) एक डॉ/टर के 潩瑰प म捯搨 :ि.थ汴楴त
3) एक डॉ/टर के प9ु के 潩瑰प म捯搨 :ि.थ汴楴त
4) एक प9ु के 潩瑰प म捯搨 :ि.थ汴楴त

Ques # :33

Which one of the following statement is correct ?
1) Social change and cultural change are the same .
2) An example of cultural change is also essentially an example of social change
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3) Social change and cultural change are opposite
4) Social change is a part of cultural change

䆈�न�ना䈟ꐀकत म� स ेकौन सा व栘त䊫㪀य सह䆈� ह ै?
1) सामािजक और साकंृ汴楴तक प汥卹रवत耈Ȅन एक ह⁮尽 चीज ह ै।
2) सामािजक और साकंृ汴楴तक प汥卹रवत耈Ȅन捥汥 के दायर ेएक दसुर ेस े⌧⡲बलकुल .वत9ं ह ै।
3) सामािजक और साकंृ汴楴तक प汥卹रवत耈Ȅन 祴献वरोधी ह ै।
4) सामािजक प汥卹रवत耈Ȅन, साकंृ汴楴तक प汥卹रवत耈Ȅन का एक भाग ह ै।

Ques # :34

Which one of the following statement is correct ?
1) Social norms are universal
2) Social norms are situational
3) All the social norms are equally important for society
4) Social norms are more or less static

䆈�न�ना䈟ꐀकत म� स ेकौन सा व栘त䊫㪀य सह䆈� ह ै?
1) सामािजक मानक साव耈Ȅभौ彥条मक है
2) सामािजक मानक पा汥卹रि.थ汴楴तक है
3) एक समाज म捯搨 सभी सामािजक मानक एक सामान 潩瑰प स ेमह4वपणू耈Ȅ है
4) सामािजक मानक लगभग ग汴楴तह⁮尽न है

Ques # :35

Role conflict means ?
1) Conflict between two persons playing different roles
2) Roles which necessarily lead to conflict
3) To play two inconsistent roles simultaneously
4) Conflict between two generations

भ䆍�मका सघंष䊳몀 का अथ䊳몀 ह ै?
1) 祴献व彥条भ	न भ彥条मकाओ ंका 汴楴नवा耈Ȅह करत ेदो �यि/तय捥汥 के म�य सघंष耈Ȅ
2) भ彥条मकाय捯搨 जो अ汴楴नवाय耈Ȅतः सघंष耈Ȅ क畣潤 और ल ेजाती है
3) दो 祴献वसगंत भ彥条मकाओ ंका एक साथ 汴楴नवा耈Ȅह करना पड़े
4) दो पीढ⁮尽य捥汥 के म�य सघंष耈Ȅ

Ques # :36

Who has propounded the concept of ' Technological Lag ' ?
1) Ogburn
2) Maciver and Page
3) Tylor
4) Lewis

' 䆈�ो�यो䆈�गक 䈴वलबंन ' क遨� अवधारणा को 䈟ꐀकसन े䆈�䆈�तपा䇢切दत 䈟ꐀकया ह ै?
1) ऑगबन耈Ȅ
2) मकैाइवर एव ंपजे
3) टायलर
4) ल祴े献वस
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Ques # :37

Juvenile justice Act 1986 was implemented on :
1) 2 October 1986
2) 14 November 1986
3) 2 October 1987
4) 14 November 1987

बाल 䆈�याय अ䆈�ध䆈�नयम 1986 कब लाग ूहआु ?
1) 2 अ/टूबर 1986
2) 14 नव	बर 1986
3) 2 अ/टूबर 1987
4) 14 नव	बर 1987

Ques # :38

How many classes of residues Pareto had identified ?
1) Four
2) Five
3) Six
4) eight

परटेो न ेअवशषे� के 䈟ꐀकतन ेवग설鯠 क遨� पहचान क遨� ह ै?
1) चार
2) पाचं
3) छः
4) आठ

Ques # :39

Authority denotes :
1) arbitrary authority
2) legitimate authority
3) dominance over others
4) power over others

स�ता का अथ䊳몀 ह ै:
1) इ(छाधीन स4ता
2) वधै स4ता
3) दसुरो पर :भतुा
4) दसुरो पर शि/त

Ques # :40

Which mechanism of social control is not explain by Parsons ?
1) Direct Mechanism
2) Positive Mechanism
3) Therapeutic Mechanism
4) Negative Mechanism

सामािजक 䆈�नय섷䠀ण क遨� कौनसी यिु栘त पारस䆈�स �वारा नह䆈� ंबताई गई ह ै?
1) :4य  ⤧牥6या祴献व桴摩ध
2) 
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.वीकारा4मक ⤧牥6या祴献व桴摩ध
3) 桴摩च⤧牥क4सा4मक ⤧牥6या祴献व桴摩ध
4) 汴楴नषधेा4मक ⤧牥6या祴献व桴摩ध

Ques # :41

Who defined social action in terms of the subjective meaning of the actor ?
1) Durkheim
2) Max Weber
3) V. Pareto
4) T. Parsons

सामािजक 䈟ꐀ�या को कता䊳몀 के 䊫㪀यि栘तपरक अथ䊳몀 के ￱�प म� 䈟ꐀकसन ेप�रभा䈴षत 䈟ꐀकया ह ै?
1) दखु敬敓म
2) म/ैस वबेर
3) वी. पारटेो
4) ट⁮尽. पारस	स

Ques # :42

Which of the following statement is wrong ?
1) Community is a specie of society.
2) Community is concrete but society is abstract
3) Community involves both likeness and difference
4) Community is situated in definite locality.

䆈�न�न䆍�ल䇛खत म� स ेकौन सा कथन अस�य ह ै?
1) समदुाय समाज का एक :कार है
2) समदुाय मतू耈Ȅ ह ैल⤧े牥कन समाज अमतू耈Ȅ है
3) समदुाय म捯搨 समानता एव ंअतंर दोन捥汥 होत ेहै
4) समदुाय एक 汴楴नि�चत .थान पर ि.थत होता है

Ques # :43

For Weber, capitalism did not arise in India because ­
1) Indians are lazy.
2) There was diversity of religions.
3) Hinduism emphasizes other worldly rewards.
4) Technology was not available.

वबेर के अनसुार पूँजीवाद भारत म� नह䆈� ंपनप सका 栘य�䈟ꐀक ­
1) भारतीय आलसी है
2) भारत म捯搨 धम祴献 क畣潤 祴献व彥条भ	नता है
3) 潴捥ह	द ूधम敢浵 न ेआ�याि4मक परु.कार捥汥 पर 祴献वशषे बल 潴捥दया
4) :ो⁝❮यो桴摩गक畣潤 उपल,ध नह⁮尽 ंथी

Ques # :44
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1) I­b , II­a , III­d , IV­c
2) I­a , II­b , III­d , IV­c
3) I­a , II­b , III­c , IV­d
4) I­c , II­d , III­a , IV­b

1)  I­b , II­a , III­d , IV­c
2)  I­a , II­b , III­d , IV­c
3)  I­a , II­b , III­c , IV­d
4)  I­c , II­d , III­a , IV­b

Ques # :45

Which one of the following be a factor of social change ?
1) Ideology
2) Population
3) Technology
4) Human Instincts

䆈�न�न म� स ेकौनसा एक कारक सामािजक प�रवत䊳몀न का नह䆈� ंहो सकता ?
1) 祴献वचारधारा
2) जनस�ँया
3) :⁝❮यो桴摩गक畣潤
4) मानव मलू :व汴楴तयाँ

Ques # :46

Which of the following is not the basis of ascribed status ?
1) Caste Membership
2) Class Membership
3) Kinship
4) Race Membership

䆈�न�न䆍�ल䇛खत म� स ेकौनसा 䆈�द�त 䆈�ि䗫㎀थ䆈�त आधार नह䆈� ंह ै?
1) जा汴楴त सद.यता
2) वग耈Ȅ सद.यता
3) नातदेार⁮尽
4) :जा汴楴त सद.यता

Ques # :47

Which of the following theories describes the Marxian interpretation of profit ?
1) Theory of value
2) Theory of Wages
3) Theory of Surplus Value



24/06/2016 College Lecturer Exam ­ Sociology­I

14/42

4) All of these

䆈�न�ना䈟ꐀकत म� स ेकौनस े䆍�स䌍讀ातं मनुाफे के मा栘स䊳몀वाद䆈� 䆍�स䌍讀ातं क遨� 䊫㪀या�या करत ेह ै?
1) म-ूय का 彥条स楰‽ातं
2) मजदरू⁮尽 का 彥条स楰‽ातं
3) अ汴楴त汥卹र/त म-ूय का 彥条स楰‽ातं
4) इनम ेस ेसभी

Ques # :48

The Hindu Marriage act does not allow marriage on the father's side within :
1) Three generations
2) Four generations
3) Five generations
4) Six generations

䇢切ह䆈�द ू䈴ववाह अ䆈�ध䆈�नयम 䈴पता प￰栘 क遨� और 䈴ववाह क遨� अनमु䆈�त नह䆈� ंदतेा ­
1) तीन पी潴捥ढय捥汥 म捯搨
2) चार पी潴捥ढय捥汥 म捯搨
3) पाचँ पी潴捥ढय捥汥 म捯搨
4) छः पी潴捥ढय捥汥 म捯搨

Ques # :49

Which of the following is not correctly matched ?
1) Role Making ­ Turner
2) Role Taking ­ Mead
3) Role set ­ Merton
4) Role distance ­ Sorokin

䆈�न�न䆍�ल䇛खत म� स ेकौन सा सह䆈� ￱�प म� स�ब䆈�धत नह䆈� ंह ै?
1) भ彥条मका 汴楴नमा耈Ȅण ­ टन耈Ȅर
2) भ彥条मका �हण ­ मीड
3) भ彥条मका पुंज ­ मट耈Ȅन
4) भ彥条मका दरू⁮尽 ­ सोरो⤧牥कन

Ques # :50

Which one of the following is not an example of primary group ?
1) family
2) Peer Group
3) Caste Association
4) Neighbourhood

䆈�न�न䆍�ल䇛खत म� स स ेकौनसा 䆈�ाथ䆍�मक समहू का उदहारण नह䆈� ंह ै?
1) प汥卹रवार
2) 彥条म9 म�डल⁮尽
3) जाती स彥条म汴楴त
4) पडौसी

Ques # :51
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To whom is the definition of Association attributed ? " Association is working together of people to achieve
some purpose. "
1) Bogardus
2) Fairchild
3) Ginsberg
4) Gisbert

स䆍�म䆈�त क遨� 䆈�न�ना䈟ꐀकंत प�रभाषा 䈟ꐀकसक遨� ह ै? " 䈟ꐀकसी उ￱�䆈�य क遨� 䆈�ाि㾀�त के 䆍�लए लोगो के 䆍�मलकर काय䊳몀 करन ेको
स䆍�म䆈�त कहत ेह ै। "
1) बोगाड耈Ȅस
2) फेयरचाइ-ड
3) िज	.बग耈Ȅ
4) िज.बट耈Ȅ

Ques # :52

Which of the following criteria was not used by Durkheim for defining a social fact ?
1) Externality
2) Values
3) Constraints
4) Generality

䆈�न�न䆍�ल䇛खत म� स ेदखु顑�म न ेसामािजक तࠀ∐य क遨� प�रभाषा करत ेहएु 䈟ꐀकस कसौट䆈� का 䆈�योग नह䆈� ं䈟ꐀकया ह ै?
1) बा�यता
2) म-ूय
3) दबाव
4) सामा	यता

Ques # :53

Which of the following is an example of family of orientation ?
1) In which one is born
2) In which one is married
3) In which one is adopted
4) In which one desires to be admitted

䆈�न�न म� स ेपवूा䊳몀म䇛खकरण प�रवार का उदहारण ह ै?
1) िजसम ेज	म हआु है
2) िजसम े祴献ववाह हआु है
3) िजसम ेगोद 彥条लया गया है
4) िजसम ेसद.यता पाना चाहता है

Ques # :54

The type of suicide that increases in economic crisis is ­
1) Anomic
2) Egoistic
3) Altrustic
4) professional

आ䆈�थ䊳몀क सकंट के समय बढती आ�मह�या के 䆈�कार को कहत ेह ै­
1) अ.वाभा祴献वक
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2) अहवंाद⁮尽
3) पराथ耈Ȅवाद⁮尽
4) �यवसा汴楴यक

Ques # :55

Who has coined the term Quasi group ?
1) Maciver
2) Ogburn
3) Hyman
4) Ginsberg

अ䌍讀䊳몀 सहभागी समहू 䆈��यय 䈟ꐀकसन े䆈�䆈�तपा䇢切दत 栘या ह ै?
1) मकैाइवर
2) ऑगबन耈Ȅ
3) हाइमन
4) िज	.बग耈Ȅ

Ques # :56

The statuses like husband ­ wife and Doctor­patient can be called ?
1) Perceived Status
2) Polar Status
3) Status Set
4) Paired Status

प䆈�त­प�नी एव ंडॉ栘टर­मर䆈�ज जसैी 䆈�ाि䗫㎀थ䆈�तयो को कहा जा सकता ह ै?
1) :ती汴楴त :ाि.थ汴楴तयाँ
2) 祴献वपर⁮尽त :ाि.थ汴楴तयाँ
3) :ाि.थ汴楴त पुंज
4) य(ुम :ाि.थ汴楴त

Ques # :57

When a Kin is referred to indirectly through another kin , the system is known as
1) Avunculate
2) Teknonymy
3) Amitate
4) Couvade

जब एक �र䆈�तदेार परो￰栘 ￱�प स ेदसुर े�र䆈�तदेार को स�भो䇢切दत करता ह ैतो इस 䊫㪀यव䗫㎀था को कहा जाता ह ै?
1) मातलु स	ब	ध
2) अनसुतंाती स	बोधन
3) 祴献पत�ृवसा स	ब	ध
4) कुवाद

Ques # :58

Among which tribe ' the bow and arrow ' presentation ceremony is followed to determine fatherhood of the
child ?
1) Toda
2) Kadar
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3) Andaman Islanders
4) Nuers

䆈�न�न म� स े䈟ꐀकस जनजा䆈�त म� उ�सव के अवसर पर ' तीर और कमान ' दने ेपर ब�च ेका 䈴पता बनन ेका अ䆈�धकार
䆈�नधा䊳몀�रत 䈟ꐀकया जाता ह ै?
1) टोडा
2) कादर
3) अडंमान ⁝❮वीप समहू के 汴楴नवासी
4) 	यरूस

Ques # :59

according to Durkheim, mechanical solidarity can exist ­
1) Only in simple society
2) only in complex society
3) In both simple and complex society
4) None of these

दखु顑�म के अनसुार या�ं섷䠀क एकता पाई जा सकती ह ै?
1) केवल सरल समाज म捯搨
2) केवल ज潴捥टल समाज म捯搨
3) सरल एव ंज潴捥टल दोन捥汥 ह⁮尽 समाज捥汥 म捯搨
4) इनम ेस ेकोई नह⁮尽ं

Ques # :60

Which one of the following arguments Durkheim has emphasized in his book ' The Division of labour in
Society' ?
1) Division of labour is a disintegrative process
2) Division of labour as an integrative process
3) Division of labour is a productive process
4) Increasing division of labour is harmful

दखु顑�म न ेअपनी प䗫㎀तक ' द 䉦退डवीज़न ऑफ़ लबेर इन सोसाइट䆈� ' म� 䈟ꐀकस कथन पर बल 䇢切दया ह ै?
1) <म 祴献वभाजन एक असमा/लना4मक :⤧牥6या है
2) <म 祴献वभाजन एक समा/लना4मक :⤧牥6या है
3) <म 祴献वभाजन एक उ4पादक :⤧牥6या है
4) <म 祴献वभाजन का बढ़ना समाज के 彥条लए नकुसानदायक है

Ques # :61

" Communist Manifesto " responsible for several revolutions was published in the year :
1) 1836 A.D.
2) 1846 A.D.
3) 1848 A.D.
4) 1867 A.D.

" क�य䆈�न䗫㎀ट म䆈�नफे䗫㎀टो " जो अनके �ा䆈�तयो के 䆍�लए उ�तरदायी ह ै䆈�का䆍�शत हआु ­
1) 1836 ई. म捯搨
2) 1846 ई. म捯搨
3) 1848 ई. म捯搨
4) 
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1867 ई. म捯搨

Ques # :62

The book " The Third Wave " is authored by :
1) Dunbaugh
2) N.J. Smelser
3) H.G. Wells
4) Alvin Toffler

" द थड䊳몀 ववे " प䗫㎀तक के लखेक ह ै?
1) डनबॉफ
2) एन. ज.े .मलेसर
3) एच. जी. व-ेस
4) एि-वन टाफॉलर

Ques # :63

Simmel's classification of group is based on ?
1) Social relations
2) Nature of relations
3) Size
4) Nature of membership

䆍�समले के समहू के वग顑�करण का आधार ह ै?
1) सामािजक स	ब	ध
2) स	ब	धो क畣潤 :कृ汴楴त
3) आकार
4) सद.यता क畣潤 :कृ汴楴त

Ques # :64

Which of the following illustrates the social structure of the ancient Hindu society ?
1) Religious Tolerance
2) Non violence
3) Belief in incarnation
4) Varn ashram Dhram

䆈�न�न䆍�ल䇛खत म� कौन 䆈�ाचीन 䇢切ह䆈�द ूसमाज क遨� सामािजक सरंचना क遨� 䊫㪀या�या करता ह ै?
1) धा彥条म耈Ȅक स潴捥ह�णतुा
2) अ潴捥हसंा
3) अवतार捥汥 म捯搨 祴献व�वास
4) वणा耈Ȅ<म धम敢浵

Ques # :65

Who said " Society is Sui generis " ?
1) Maciver
2) Bogardus
3) E. Durkheim
4) Karl Max
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䈟ꐀकसन ेकहा , " समाज 䗫㎀वतः 䗫㎀फूत䊳몀 ह ै" ?
1) मकैाइवर
2) बोगाड耈Ȅस
3) ई. दखु敬敓म
4) काल耈Ȅ म/ैस

Ques # :66

" Hippies " are an example of :
1) Contra Culture
2) Sub Culture
3) Culture Pattern
4) Society

" 䇢切हि㾀�पय� " को उदहारण मानत ेह ै__________ का ?
1) :汴楴त स.ंकृ汴楴त
2) उप स.ंकृ汴楴त
3) सा.ंकृ汴楴तक :汴楴तमान
4) समाज

Ques # :67

The term " Uncle " is a :
1) Classificatory term
2) Contradictory term
3) Descriptive term
4) Narrow term

" अकंल " श�द ह ैएक :
1) वगा耈Ȅ4मक स�ंा
2) 祴献वरोधाभाषी स�ंा
3) 祴献व彥条श.टा4मक स�ंा
4) सकंु桴摩चत स�ंा

Ques # :68

Which of the following is not the rising factor of casteism ?
1) Marriage restrictions
2) Decline of Jajmani system
3) Westernization
4) Sanskritization

䆈�न�न䆍�ल䇛खत म� स ेजा䆈�तवाद को बढ़ावा दने ेवाला कारक कौन सा नह䆈� ंह ै?
1) ववैा潴捥हक :汴楴तब	ध
2) जजमानी �यव.था का चलन
3) पि�चमीकरण
4) स.ंकृ汴楴तकरण

Ques # :69

In which of the following books M.N. Srinivas first used the term sanskritization ?
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1) Caste in Modern India
2) Religion and society among the coorgs
3) The Remembered Village
4) Social change in Modern India

䆈�न�ना䈟ꐀकत प䗫㎀तक� म� स े䈟ꐀकस म� एम.् एन. �ी䆈�नवास न ेस䗫㎀कृ䆈�तकरण श�द का 䆈�थम 䆈�योग 䈟ꐀकया था ?
1) का.ट इन मॉडन耈Ȅ इ眮ं敬डया
2) 汥卹र彥条लजन ए�ड सोसाइट⁮尽 अमगं द कु(स耈Ȅ
3) द 汥卹रम	ेबड耈Ȅ 祴献वलजे
4) सोशल च捯搨ज इन मॉडन耈Ȅ इ眮ं敬डया

Ques # :70

What kind of group Gotra is ?
1) Exogamous
2) Endogamous
3) Cultural
4) Racial

गौ섷䠀 䈟ꐀकस 䆈�कार के समहू का उदहारण ह ै?
1) ब潴捥ह祴献व耈Ȅवाह⁮尽
2) अतं祴献व耈Ȅवाह⁮尽
3) सा.ंकृ汴楴तक
4) :जातीय

Ques # :71

Which of the following is a victimless crime ?
1) Extremist Act
2) Murder
3) Prostitution
4) Rape

䆈�न�न䆍�ल䇛खत म� स ेकौनसा उ�पीडन 䈴वह䆈�न अपराध ह ै?
1) उ�वाद⁮尽 ग汴楴त祴献व桴摩ध
2) ह4या
3) व�ैयाव汴楴त
4) बला4कार

Ques # :72

The abuses given by the bowler to the umpire in a cricket match for not giving the player out is :
1) Rational action with reference to goal
2) affective action
3) Rational action with reference to value
4) Traditional action

䈟ꐀ�केट मचै म� अपंायर �वारा ब�लबेाज को आउट न मानन ेपर ग�दबाज पर अपंायर स ेअभ䍑렠 䊫㪀यवहार करना ह ै?
1) ता⤧牥क耈Ȅक ⤧牥6या ल�य के स	दभ耈Ȅ म捯搨
2) भावा4मक ⤧牥6या
3) ता⤧牥क耈Ȅक ⤧牥6या म-ूय के स	ब	ध म捯搨
4) पारपं汥卹रक ⤧牥6या
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Ques # :73

Marriage between cross cousins is permitted in
1) Eastern India
2) Western India
3) Northern India
4) Southern India

䈴वषम䆍�लगंीय सहोदरज के बीच 䈴ववाह कहा मा䆈�य ह ै?
1) पवू敬敓 भारत
2) पि�चमी भारत
3) उ4तर⁮尽 भारत
4) द楰† ण भारत

Ques # :74

Which of the following is not an agency of socialization ?
1) School
2) Youth Dormitory
3) army
4) Family

䆈�न�ना䈟ꐀकत म� स ेसमाजीकरण का अ䆍�भकरण नह䆈� ंह ै?
1) 祴献व⁝❮यालय
2) यवुागहृ
3) सनेा
4) प汥卹रवार

Ques # :75

Who said , " Status is institutionalized role." ?
1) Ralph Linton
2) Kingsley Davis
3) Robert Bierstedt
4) Robert K Merton

䈟ꐀकसन ेकहा , " 䆈�ाि䗫㎀थ䆈�त स䗫㎀थागत भ䆍�मका ह ै" ?
1) रा-फ 彥条लटंन
2) ⤧牥कं(सल ेड祴献वस
3) रोबट耈Ȅ बीर.ट⁮尽ड
4) रोबट耈Ȅ के. मट耈Ȅन

Ques # :76

How many countries included in Durkheim's study of suicide ?
1) 9 countries
2) 10 countries
3) 11 countries
4) 12 countries

दखु顑�म के आ�मह�या अ䊢崀ययन म� 䈟ꐀकतन ेदशे सि�म䆍�लत ह ै?
1)  9 दशे
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2)  10 दशे
3)  11 दशे
4)  12 दशे

Ques # :77

Which one of is not a types of conjunctive process ?
1) Co­operation
2) Competition
3) Accommodation
4) Assimilation

कौनसा सयंोजक 䆈�䈟ꐀ�या का 䆈�कार नह䆈� ंह ै?
1) सहयोग
2) :汴楴तयो桴摩गता
3) समायोजन
4) आ4मसा4करण

Ques # :78

" Culture is man­made part of environment. " , is the statement given by
1) Herskovits
2) Tylor
3) Hoebal
4) None of these

" स䗫㎀कृ䆈�त पया䊳몀वरण का मानव 䆈�न䆍�म䊳몀त भाग ह ै" , यह कथन 䇢切दया ह ै?
1) हस耈Ȅको祴献व潩瑰स
2) टायलर
3) हॉबल
4) इनम ेस ेकोई नह⁮尽ं

Ques # :79

Who said " Association denotes membership institution denotes a mode or means of service. "
1) Fairchild
2) Bogardus
3) Gisbert
4) None of these

䈟ꐀकसन ेकहा , " स䆍�म䆈�त सद䗫㎀यता इ䆈ं�गत करती ह ैस䗫㎀था सवेा क遨� 䈴व䆈�ध या साधन को इ䆈ं�गत करती ह ै। "
1) फेयरचाइ-ड
2) बोगाड耈Ȅस
3) िज.बट耈Ȅ
4) इनम ेस ेकोई नह⁮尽ं

Ques # :80

The year 1961 in India is famous for passing an act for:
1) Banning Female Foeticide
2) Prevention of domestic violence
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3) Prohibition of Dowry
4) Stopping of child marriage

भारत म� 1961 का वष䊳몀 इस䆍�लए 䆈�䆍�स䌍讀 ह ै䈟ꐀक इस वष䊳몀 म� एक अ䆈�ध䆈�नयम पा�रत हआु था , िजसका स�ब䆈�ध था
1) क	या �णूह4या 汴楴नषध⁝❮ता से
2) घरले ु潴捥हसंा क畣潤 रोकथाम से
3) दहज़े के 汴楴नषधे से
4) बाल­祴献ववाह को रोकन ेसे

Ques # :81

Delhi University , New Delhi is an example of which of the concept given below:
1) Achieved Status
2) Ascriptive Status
3) Station
4) Office

䇢切द�ल䆈� 䈴व䆈�व䈴व�यालय, नयी 䇢切द�ल䆈� म� समाज 䈴व�ान का अ䆈�ध㾀�ठाता 䆈�न�न䆍�ल䇛खत म� स े䈟ꐀकस अवधारणा का
उदहारण ह ै?
1) अिज耈Ȅत :ाि.थ汴楴त
2) :द4त :ाि.थ汴楴त
3) .टशेन
4) पदानषुगं

Ques # :82

Which one of the following article in the constitution of India related only to the scheduled tribes ?
1) Article 244
2) Article 330
3) Article 332
4) Article 335

䆈�न�न䆍�ल䇛खत म� स ेकौन सा अन�ुछदे भारत के स䈴वधान म� केवल जनजा䆈�तय� स ेस�ब䆈�धत ह ै?
1) अन(ुछदे 244
2) अन(ुछदे 330
3) अन(ुछदे 332
4) अन(ुछदे 335

Ques # :83

Who has argued that , " Science is science, whether in Physics or Sociology. "
1) Karl Pearson
2) P.H. Landis
3) George A. Lundberg
4) P.V. Young

䈟ꐀकसन ेकहा ह ैक遨� , " 䈴व�ान, 䈴व�ान ह䆈� ह ैचाह ेवह भौ䆈�तक शा䗫㎀섷䠀 म� हो या समाजशा䗫㎀섷䠀 म� " :
1) काल耈Ȅ 祴献पअरसन
2) पी.एच. लिै�डस
3) जॉज耈Ȅ ए. ल�ुडबग耈Ȅ
4) पी. वी. यगं



24/06/2016 College Lecturer Exam ­ Sociology­I

24/42

Ques # :84

Which article of Indian constitution provides right to freedom of religion ?
1) Article 19
2) Article 23
3) Article 25
4) Article 29

भारतीय स䈴वधान का कौनसा अन�ुछदे धा䆍�म䊳몀क 䗫㎀वत섷䠀ता का अ䆈�धकार 䆈�दान करता ह ै?
1) अन(ुछदे 19
2) अन(ुछदे 23
3) अन(ुछदे 25
4) अन(ुछदे 29

Ques # :85

Pareto's theory of circulation of elites is an example of ­
1) Social change
2) Social Control
3) Social stratification
4) Socialization

पारटेो का अ䆍�भज䆈�य का सचंरण का 䆍�स䌍讀ातं उदहारण ह ै?
1) सामािजक प汥卹रवत耈Ȅन का
2) सामािजक 汴楴नय9ंण का
3) सामािजक .तर⁮尽करण का
4) समाजीकरण का

Ques # :86

Which one of the following is the basis concern of the Article 17 of the Indian constitution ?
1) Representation of backward classes
2) Political representation to scheduled castes
3) Abolition of untouchablity
4) Reservation of posts for scheduled castes

भारत के स䈴वधान का अन�ुछदे 17 䆈�न�न䆍�ल䇛खत म� मलूतः 䈟ꐀकस स ेस�ब䆈�धत ह ै?
1) 祴献पछड़ ेवग摥瑣 का :汴楴त汴楴न桴摩ध4व
2) अनसु桴摩चत जा汴楴तय捥汥 के 彥条लए राज汴楴न汴楴तक :汴楴त汴楴न桴摩ध4व
3) अ.प�य耈Ȅता का उ	मलून
4) अनसु桴摩चत जा汴楴तय捥汥 के 彥条लए पद捥汥 का आर ण

Ques # :87

The factor which does not count in globalization is :
1) World Trade Organization
2) Competition
3) World Economic Forum
4) Westernization

व䆈�वीकरण म� जो कारक मह��वपणू䊳몀 नह䆈� ंह ै, वह है
1) 祴献व�व �यापार सगंठन
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2) :汴楴त.पधा耈Ȅ
3) 祴献व�व आ桴摩थ耈Ȅक मचं
4) पि�चमीकरण

Ques # :88

Who wrote " India's Villages " ?
1) S.C. Dube
2) M.N. Shrinivas
3) T.K. Oomen
4) Iravati Karve

" इ䉦ं退डयाज 䈴वलजे " के लखेक कौन ह ै?
1) एस. सी. दबुे
2) एम. एन. <ी汴楴नवास
3) ट⁮尽. के. ऊमन
4) इरावती कव焮瑮

Ques # :89

Which article of the constitution deals with the appointment of a minister in­charge of tribal welfare ?
1) Article 163
2) Article 164
3) Article 165
4) Article 166

स䈴वधान क遨� कौनसी धारा आ䇢切दम क�याण म섷䠀ी क遨� 䆈�नयिु栘त स ेस�ब䆈�धत ह ै?
1) धारा 163
2) धारा 164
3) धारा 165
4) धारा 166

Ques # :90

Which of the following factor is not a hindrance in national integration ?
1) Casteism
2) Urbanism
3) Regionalism
4) Communalism

䆈�न�न䆍�ल䇛खत म� स ेकौन सा कारक रा㾀�企N䆈�य एक遨�करण म� बाधा नह䆈� ंह ै?
1) जा汴楴तवाद
2) नगर⁮尽यवाद
3)  9ेवाद
4) स	:दायवाद

Ques # :91

According to the Census 2011, which of the following states/U. T. has the highest percentage of scheduled tribe
population as part of its total population ?
1) Lakshadweep
2) Mizoram
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3) Nagaland
4) Meghalaya

जनगणना 2011 के अनसुार 䆈�न�न䆍�ल䇛खत म� स े䈟ꐀकस रा䆈�य/के䆈�䍑렠शा䈴षत क遨� जनस�ँया म� अनसु䆈�चत जनजा䆈�त क遨�
जनस�ँया का 䆈�䆈�तशत अ䆈�धकतम ह ै?
1) ल ⁝❮वीप
2) 彥条मजोरम
3) नागाल畱⹴ड
4) मघेालय

Ques # :92

" Social control explanation " of child abuse is given by :
1) Albion Small
2) Parsons
3) Becker
4) Gelles

बाल द䊫㪀य䊳몀वहार क遨� " सामािजक 䆈�नय섷䠀ण 䊫㪀या�या " द䆈� ह ै:
1) एि-बआ ँने
2) पारस	स ने
3) बकेर ने
4) ग-ेस ने

Ques # :93

Which article of the constitution deals with specifying a particular tribe as a scheduled tribe ?
1) Article 342
2) Article 343
3) Article 344
4) Article 345

स䈴वधान क遨� 䈟ꐀकस धारा का स�ब䆈�ध जनजा䆈�त के अनसु䆈�चत जनजा䆈�त क遨� 䈴व䆍�श㾀�टता स ेसदं䆍�भ䊳몀त ह ै?
1) धारा 342
2) धारा 343
3) धारा 344
4) धारा 345

Ques # :94

The term " consciousness of kind " is coined by ?
1) Johnson
2) F. Giddings
3) Marcel Mauss
4) George Homan

" 䗫㎀वजा䆈�त चतेना ' क遨� अवधारणा 䈟ꐀकसन ेद䆈� ह ै?
1) जॉनसन
2) एफ. 桴摩ग眮敬ड(ंज
3) मास焮瑮ल मास
4) जॉज耈Ȅ होम	स
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Ques # :95

A Kibbutzin is :
1) A tribal dance
2) Group of families
3) Garo term for extended family
4) A religious sect of Mexico

" 䈟ꐀकबिूजम " ह ै:
1) एक जनजातीय न4ृय
2) प汥卹रवार捥汥 का समहू
3) 祴献व	漠㴠त प汥卹रवार के 彥条लए " गारो "श,द
4) मिे/सको का एक धा彥条म耈Ȅक पथं

Ques # :96

The book " Caste in India" is written by ?
1) G.S. Ghurye
2) A.R. Desai
3) J.H. Hutton
4) M.N. Srinivas

" का䗫㎀ट इन इ䉦ं退डया " प䗫㎀तक के लखेक ह ै:
1) जी. एस. घयु焮瑮
2) ए. आर. दसेाई
3) ज.े एच. ह潤†न
4) एम. एन. <ी汴楴नवास

Ques # :97

" National Girls child day " is celebrated on which day ?
1) 24 January
2) 12 February
3) 08 March
4) 04 September

" रा㾀�企N䆈�य बा䆍�लका 䇢切दवस " 䈟ꐀकस 䇢切दन मनाया जाता ह ै?
1) 24 जनवर⁮尽
2) 12 फरवर⁮尽
3) 08 माच耈Ȅ
4) 04 彥条सत	बर

Ques # :98

Proletarianization refers to :
1) Class consciousness among workers
2) Revolutions of working class
3) Growing number of wage labourers
4) Competition between capitalists

सव䊳몀हाराकरण का अथ䊳몀 ह ै?
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1) मजदरू捥汥 म捯搨 वग耈Ȅ चतेना
2) मजदरू वग耈Ȅ क畣潤 6ा汴楴त
3) वतेन <彥条मको क畣潤 बढती स�ंया
4) पूंजीप汴楴तय捥汥 म捯搨 :汴楴त.पधा耈Ȅ

Ques # :99

When Central Social Welfare Board for women, children and physically different group was constituted ?
1) August 1953
2) September 1957
3) August 1955
4) September 1958

म䇢切हलाओ , ब�चो एव ंशार䆈��रक �㾀�ट䆈� स े䆍�भ䆈�न समहू� के 䆍�लए क�䍑렠䆈�य समाज क�याण बोड䊳몀 क遨� 䗫㎀थापना कब क遨� गयी
ह ै?
1) अग.त 1953
2) 彥条सत	बर 1957
3) अग.त 1955
4) 彥条सत	बर 1958

Ques # :100

The book ' The coming crisis of Western sociology ' is written by :
1) Raymond Aron
2) Peter Berger
3) Allport
4) A.W. Gouldner

" द䆈� क䆍�मगं �ाइ䆍�सस ऑफ़ व䗫े㎀टन䊳몀 सो䆍�सयोलॉजी " नामक प䗫㎀तक 䆍�लखी ह ै?
1) रमे捥汥 एर捥汥
2) पीटर बज耈Ȅर
3) आलपोट耈Ȅ
4) ए. ड,-य.ू ग-ुडनर

Ques # :101

Who has written the book , ' The death of the family' ?
1) E. leach
2) D, Cooper
3) W.J. Goode
4) G.P. Murdock

" द डथै ऑफ़ द फे䆍�मल䆈� " प䗫㎀तक 䈟ꐀकसन े䆍�लखी ह ै?
1) ई. ल⁮尽च
2) डी. कूपर
3) ड,-य.ू ज.े गडुे
4) जी.पी. मरडॉक

Ques # :102

Who explained sociology as a craft ?
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1) Nisbet
2) Sorokin
3) Mills
4) Simmel

समाजशा䗫㎀섷䠀 क遨� 䆍�श�प के ￱�प म� 䈟ꐀकसन े䊫㪀या�या क遨� ह ै?
1) 汴楴न.बते
2) सोरो⤧牥कन
3) 彥条म-स
4) 彥条समले

Ques # :103

Which one is not contemporary social problems in India ?
1) Communalism
2) Casteism
3) Regionalism
4) Democraticism

䆈�न�न म� स ेकौन सा भारतीय समाज के 䆍�लए समकाल䆈�न सामािजक सम䗫㎀या नह䆈� ंह ै:
1) स	:दायवाद
2) जा汴楴तवाद
3)  9ेवाद
4) :जात	9वाद

Ques # :104

According to Harry Johnson, the four elements of society are (i) Definite Territory (ii) Sexual Reproduction
(iii) Emprehensive Culture and (iv) __________________________?
1) Population
2) Physical Identity
3) Social Institution
4) Independence

हरै䆈� जॉनसन के अनसुार समाज के चार त��व ह ै(i) 䆈�नि䆈�चत ￰栘섷䠀 (ii) 䆈�जनन (iii) स�पणू䊳몀 स䗫㎀कृ䆈�त एव ं(iv)
__________________________?
1)  जनस�ँया
2)  भौ汴楴तक पहचान
3)  सामािजक स.ंथा
4)  .वत9ंता

Ques # :105

Which is not the characteristic of social institution ?
1) Active Membership
2) System of activities
3) Normative System
4) Goals

कौन सी 䈴वशषेता सामािजक स䗫㎀था क遨� नह䆈� ंह ै?
1) स⤧牥6य सद.यता
2) ⤧牥6याओ क畣潤 �यव.था
3) 
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मानक �यव.था
4) उ⁴桧�ेय

Ques # :106

Who has argued that the primary groups are the ' Nursaries of Human Nature' ?
1) Sumner
2) Bogardus
3) Cooley
4) Maciver and Page

䆈�ाथ䆍�मक समहू� को ' मानव 䗫㎀वभाव क遨� प�रचा�रकाए ' 䈟ꐀकसन ेकहा ह ै?
1) समनर
2) बोगाड耈Ȅस
3) कूल⁮尽
4) मकैाइवर व पजे

Ques # :107

Membership and set goals are essential elements of the concept of :
1) Community
2) Association
3) Institution
4) Structure

सद䗫㎀यता एव ं䆈�नधा䊳몀�रत ल￰栘य 䈟ꐀकस अवधारणा के अ䆈�त आव䆈�यक त��व ह ै?
1) समदुाय
2) स彥条म汴楴त
3) स.ंथा
4) सरंचना

Ques # :108

Who has argued that , " Sociology has a long past but only a short history. " ?
1) Bottomare
2) Spencer
3) Marx
4) Bier Stedt

䈟ꐀकसन ेकहा ह ैक遨� , " समाजशा䗫㎀섷䠀 का एक ल�बा अतीत रहा ह ैल䈟ेꐀकन इ䆈�तहास काफ遨� छोटा ह ै" ?
1) बॉट मोर
2) .प	ेसर
3) मा/स耈Ȅ
4) ⌧⡲बयर .टटे

Ques # :109

Who has given, " With the father on a night shift and mother on a day shift or both on day or night shifts,
children were often on the street shift. "
1) Jones
2) New meyer
3) Cyril Burt
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4) M.J. Sethna

䈟ꐀकस न ेकहा ह ै, " जब 䈴पता रात म� काम करत ेह ैऔर माता 䇢切दन म� अथवा दोन� रात या 䇢切दन म� काम करत ेह ैतो
ब�च े䆈�ायः ग䆍�लय� म� ह䆈� काम करत ेहएु 䆍�मलत ेह ै" ?
1) जो	स
2) 	य ूमयेर
3) 彥条स汥卹रल बट耈Ȅ
4) एम. ज.े सठेना

Ques # :110

" The Kingdom of heaven is a glorified society. " who has said this ?
1) Durkheim
2) Frazer
3) Dube
4) Tylor

" 䗫㎀वग䊳몀 का सा￰栘䆈�य एक म䇢切हमा म䉦退डत समाज ह ै" , यह 䈟ꐀकसन ेकहा ह ै?
1) दखु敬敓म
2) �ेजर
3) दबुे
4) टायलर

Ques # :111

Who has defined " corruption is a willful failure to perform a specified duty in order to receive some direct or
indirect personal gains . "
1) Robert C. Brooks
2) Elliot and Merrill
3) Fair Child
4) Sutherland

䈟ꐀकसन ेप�रभा䈴षत 䈟ꐀकया ह ै, " 䆈��य￰栘 अथवा अ䆈��य￰栘 लाभ 䆈�ाि㾀�त हते ुजानबझूकर 䆈�नि䆈�चत क�त䊳몀䊫㪀य का पालन न
करना ह䆈� �㾀�टाचार ह ै" ?
1) रोबट耈Ȅ सी. �/ुस
2) इ彥条लयट व म汥े卹रल
3) फेयरचाइ-ड
4) सदरल�ेड

Ques # :112

Who has given the statement , Caste is a ' Cancer of Politics' ?
1) D.R. Gadgill
2) Rudolph
3) Abraham Lincoln
4) Panikar

जा䆈�त को ' राजनी䆈�त का क�सर ' 䈟ꐀकस 䈴व�वान ्न ेकहा ह ै?
1) डी. आर. गाड桴摩गल
2) 漠㴠डो-फ
3) अ�ाहम 彥条लकंन
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4) प扭畮णकर

Ques # :113

Who has given the concept of Nuclear Family ?
1) Murdock
2) Zimmerman
3) Warner
4) Johnson

मलू प�रवार क遨� अवधारणा 䈟ꐀकसन ेद䆈� ह ै?
1) मरडॉक
2) िज़मरमनै
3) वान耈Ȅर
4) जॉनसन

Ques # :114

" Sociology is regarded neither as the mistress nor as the husband of the social sciences but as their sister " ,
Whose words are these ?
1) Light and Keller
2) B. Bhushan
3) Auguste Comte
4) Barnes and Becker

" समाजशा䗫㎀섷䠀 अ䆈�य सामािजक 䈴व�ान� क遨� न तो गहृ䗫㎀वा䆍�मनी ह ैऔर न ह䆈� उनक遨� दासी ह ै, अ䈴पत ुउनक遨� बहन है
" , यह श�द 䈟ꐀकसके ह ै?
1) लाइट और केलर
2) बी. भषूण
3) अग.त क慰⌧त
4) बा	स耈Ȅ एव ंबकेर

Ques # :115

Who considers that , " Behavior, then, is to a large extent cultural , but it is not culture" ?
1) Johnson
2) Linton
3) Herskovits
4) Tylor

यह कौन मानता ह ैक遨� , " 䊫㪀यवहार बहतु हद तक साकंृ䆈�तक होता ह ै, ल䈟ेꐀकन यह अपन ेआप म� स䗫㎀कृ䆈�त नह䆈� ंह ै" ?
1) जॉनसन
2) 彥条लटंन
3) हस耈Ȅको祴献व潩瑰स
4) टायलर

Ques # :116

Who has argued that , " Conflict may lead to impasse not to change. " ?
1) Cohen
2) Marx
3) Coser
4) Darwin
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䈟ꐀकसन ेकहा ह ै, " सघंष䊳몀 ग䆈�तरोध पदैा कर सकता ह ै, प�रवत䊳몀न नह䆈� ं" ?
1) कोहने
2) मा/स耈Ȅ
3) कोसर
4) डा祴献व耈Ȅन

Ques # :117

Who has argued, " We may fill a glass with wine, water or sugar without changing its form but I can not
conceive of a social institution whose form would not change when its members (change) . "
1) Sorokin
2) Max Weber
3) Vonwiese
4) Vier kandt

यह 䈟ꐀकसन ेकहा ह ै, " हम एक 䆈�गलास को उसके बदल े�बना शराब, पानी या श栘कर स ेभर सकत ेह ै, पर䆈�त ुम� एक
ऐसी सामािजक स䗫㎀था क遨� क�पना भी नह䆈� ंकर सकता िजसका 䗫㎀व�प सद䗫㎀य� के बदलन ेपर भी न बदल े" ?
1) सोरो⤧牥कन
2) म/ैस वबेर
3) वान祴献वज
4) वीरका	त

Ques # :118

" Marriage is an institution for admitting man and woman to life", whose words are these ?
1) Wester mark
2) Kapadia
3) P.N. Prabhu
4) Bogardus

" 䈴ववाह 䗫㎀섷䠀ी और प�ुष को पा�रवा�रक जीवन म� 䆈�वशे करवान ेक遨� स䗫㎀था ह ै", यह 䈟ꐀकसन ेकहा ह ै?
1) व.ेटर माक耈Ȅ
2) कपा眮敬डया
3) पी. एन. :भु
4) बोगाड耈Ȅस

Ques # :119

Which of the following difference is wrong :
1) Culture is borrowed without change or loss but not civilization
2) Civilization is passed on without effort but not culture
3) Civilization is always progressing but not culture
4) Civilization has precise standard of measure but not culture

䆈�न�न म� स ेकौ䆈�स सा अतंर गलत ह ै?
1) स.ंकृ汴楴त ⌧⡲बना प汥卹रवत耈Ȅन के �हण क畣潤 जा सकती ह ैपर	त ुस�यता नह⁮尽ं
2) स�यता आसानी स ेह.तातं汥卹रत हो सकती ह ैस.ंकृ汴楴त नह⁮尽ं
3) स�यता म捯搨 汴楴नरतंर :ग汴楴त होती ह ैस.ंकृ汴楴त म捯搨 नह⁮尽ं
4) स�यता का ठोस माप सभंव ह ैस.ंकृ汴楴त का नह⁮尽ं
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Ques # :120

" Wherever there is life, there is society", whose words are these ?
1) Marx
2) Maciver and Page
3) Weber
4) Johnson

" जहा ँकह䆈� भी जीवन ह ै, वहा ँसमाज ह ै", 䈟ꐀकसन ेकहा ह ै?
1) मा/स耈Ȅ
2) मकैाइवर एव ंपजे
3) वबेर
4) जॉनसन

Ques # :121

Who propounded the socialization theory of " social looking glass self " ?
1) Colley
2) Durkheim
3) Mead
4) Piajet

" समाज दप䊳몀ण 䗫㎀व " का समाजीकरण का 䆍�स䌍讀ातं 䈟ꐀकसन े䆈�䆈�तपा䇢切दत 䈟ꐀकया ?
1)  कुले
2) दखु敬敓म
3) मीड
4)  祴献पयाजटे

Ques # :122

By which concept the logical behavior is explained in Freud's theory of socialization ?
1) Id
2) Ego
3) Super Ego
4) None of these

㾀�ायड के समाजीकरण के 䆍�स䌍讀ातं म� ता䈟ꐀक䊳몀क 䊫㪀य䊫㪀हार क遨� 䊫㪀या�या क遨� अवधारणा स ेक遨� गई ह ै?
1) इड
2) ईगो ( अहम ्)
3) सपुर ईगो ( परोहम )
4) इनम ेस ेकोई नह⁮尽ं

Ques # :123

Who defined social norms as the folkways of society ?
1) Durkheim
2) Radcliff­Brown
3) Sumner
4) Linton

सामािजक मानदडंो को 䈟ꐀकसन ेसमाज क遨� लोकर䆈�䆈�तयो के ￱�प म� प�रभा䈴षत 䈟ꐀकया ह ै?
1) दखु敬敓म
2) रडेि/लफ­�ाउन
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3) समनर
4) 彥条लटंन

Ques # :124

In which form of social norms its non­conformity is considered as taboo ?
1) Folkways
2) Mores
3) Etiquette
4) Tradition

䈟ꐀकस 䆈�कार के सामािजक मानद�डो म� उनका उलघंन एक 䆈�नषधे ह ै?
1) लोकर⁮尽汴楴तयां
2) लोकाचार
3) 彥条श�टाचार
4) पर	परा

Ques # :125

Who formulated the functionalist theory of social stratification for the first time ?
1) Parsons
2) Davis and Moore
3) Warner
4) Tumin

सामािजक 䗫㎀तर䆈�करण के 䆈�काय䊳몀वाद䆈� 䆍�स䌍讀ातं का पहल䆈� बार 䈟ꐀकसन े䆈�न￱�पण 䈟ꐀकआ ?
1) पारस	स
2) ड祴献वस एव ंमरू
3) वान耈Ȅर
4) 潩瑰य彥条मन

Ques # :126

The book " Social Stratification : The forms and functions of inequality " is authored by
1) Tumin
2) Weber
3) Parsons
4) Young

" सोशल 䗫㎀企Nटे䆈�फ遨�केशन : द䆈� फॉ�स䊳몀 ए�ड फं栘शनस ऑफ़ इनइ栘व䆍�लट䆈� " प䗫㎀तक के लखेक ह ै?
1)  潩瑰य彥条मन
2)  वबेर
3)  पारस	स
4)  यगं

Ques # :127

In class stratification which class is generally non­cohesive :
1) Elite Class
2) Upper Class
3) Middle Class
4) Lower Class
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वग䊳몀 䗫㎀तर䆈�करण म� कौनसा वग䊳몀 सामा䆈�यता ससुगं䇢切ठत नह䆈� ंह ै?
1) अ彥条भजन
2) उ(च वग耈Ȅ
3) मा�यम वग耈Ȅ
4) 汴楴न	न वग耈Ȅ

Ques # :128

Which one of the following is an example of wealth promised to the bride by the bridegroom ?
1) Dowry
2) Stridhan
3) Mehar
4) Bride Price

䆈�न�न䆍�ल䇛खत म� स ेकौनसा एक , वर �वारा वध ुको स�प䆈�त दने ेके वायद ेका उदहारण ह ै?
1) दहज़े
2) .9ीधन
3) महेर
4) वध ुश-ुक

Ques # :129

Communalism is the result of ­
1) Individual Disorganization
2) Family Disorganization
3) Social Disorganization
4) All of these

सा�䆈�दा䆈�यकता प�रणाम ह ै­
1) �यिै/तक 祴献वघटन
2) पा汥卹रवा汥卹रक 祴献वघटन
3) सामािजक 祴献वघटन
4) इनम ेस ेसभी

Ques # :130

Which condition exists before there appears accommodation process ?
1) Co­operation
2) Conflict
3) Adaptation
4) Assimilation

䊫㪀यव䗫㎀थापन 䆈�䈟ꐀ�या के घ䇢切टत होन ेके पवु䊳몀 कौन सी प�रि䗫㎀थ䆈�त 䈴व�यमान रहती ह ै?
1) सहयोग
2) सघंष耈Ȅ
3) अनकुूलन
4) आ4मसा4मीकरण

Ques # :131
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In the base of all social processes there is a pattern of ?
1) Action
2) Interaction
3) Reaction
4) Response

सभी सामािजक 䆈�䈟ꐀ�याओ के आधार म� 䆈�न�न䆍�ल䇛खत का एक 䆈�䆈�तमान होता ह ै?
1) ⤧牥6या
2) अतंः ⤧牥6या
3) :汴楴त⤧牥6या
4) अन⤧牥6या

Ques # :132

The emergence of " Marginal Man " in society is the consequence of which social process ?
1) Accommodation
2) Assimilation
3) Conflict
4) Adaption

䈟ꐀकस सामािजक 䆈�䈟ꐀ�या के प�रणाम 䗫㎀व�प समाज म� " सीमा䆈�त मानव " उभरता ह ै?
1) �यव.थापन
2) आ4मसा4मीकरण
3) सघंष耈Ȅ
4) अनकुूलन

Ques # :133

Which three categories of culture are mentioned by Sorokin in his cyclical theory of social change ?
1) Primitive , Traditional and Modern
2) Ideational, Sensate and Idealistic
3) Ideational, Modern and Post Modern
4) Primitive, Technological and Urban

सामािजक प�रवत䊳몀न के च�遨�य 䆍�स䌍讀ातं म� सोरो䈟ꐀकन के �वारा 䈟ꐀकन तीन स䗫㎀कृ䆈�त क遨� �䇛ेणय� को बताया गया ह ै?
1) आ潴捥दम, परपंरागत एव ंआध汴楴नक
2) आदशा耈Ȅ4मक, सनेसटे एव ंआदश耈Ȅवाद⁮尽
3) आदशा耈Ȅ4मक, आध汴楴नक एव ंउ4तर आध汴楴नक
4) आ潴捥दम, तक汴楴नक畣潤 एव ंनगर⁮尽य

Ques # :134

Durkheim mentioned that the prototype of religion is ­
1) Totem
2) Clan
3) Symbol
4) Worship of Idol

दखु顑�म न ेबताया क遨� धम䊳몀 का आ䇢切द䗫㎀व￱�प ह ै­
1) टोटम
2) /लान
3) :तीक
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4) म汴楴त耈Ȅ पजूा

Ques # :135

Herbert Spencer was born in ­
1) America
2) France
3) England
4) Germany

हब䊳몀ट䊳몀 䗫㎀प䆈े�सर का ज䆈�म कहा ँहआु था ?
1) अम汥े卹रका
2) �ासं
3) इ(ंल畱⹴ड
4) जम耈Ȅनी

Ques # :136

which is not the feature of Bureaucracy ?
1) Personalized rules of working
2) Hierarchy of positions
3) Avenues of promotions
4) Salary payments

इनम ेस ेकौनसा ल￰栘ण नौकरशाह䆈� का नह䆈� ंह ै?
1) काय耈Ȅ के वयैि/तक 汴楴नयम
2) पद捥汥 का पदसोपान
3) :ोमोशन के अवसर
4) वतेन भगुतान

Ques # :137

Which factor helps in promoting the unity in Indian society ?
1) National Symbols
2) Education System
3) Legal System
4) All of these

भारतीय समाज म� एकता को बढ़ावा दने ेम� कौनसा कारक मददगार ह ै?
1) रा�8⁮尽य :तीक
2) 彥条श ण �यव.था
3) व⁝❮या汴楴नक �यव.था
4) सभी सह⁮尽 है

Ques # :138

In which stage of Ashrama , all the purusharths of dharma, artha, kaam and moksha are fulfilled ?
1) Brahmcharya
2) Grihasta
3) Vanaprastha
4) Sanyas

आ�म� क遨� 䈟ꐀकस अव䗫㎀था म� धम䊳몀, अथ䊳몀 , काम तथा मो￰栘 के सभी प�ुषाथ䊳몀 䆈�ा㾀�त 䈟ꐀकय ेजात ेह ै?
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1) ��मचय耈Ȅ
2) गहृ.थ
3) वान:.थ
4) स	यास

Ques # :139

Who propounded the concept of Syndicated Hinduism in modern India ?
1) Yogendra Singh
2) Romila Thapar
3) S.C. Dube
4) A.R. Desai

आध䆈�नक भारत म� 䆍�स䉦退डकेटडे 䇢切ह䆈�दइु䗫㎀म (Hinduism) क遨� अवधारणा का 䆈�䆈�तपादन 䈟ꐀकसन े䈟ꐀकया ?
1) योग	े� 彥条सहं
2) रो彥条मला थापर
3) एस. सी. दबुे
4) ए. आर. दसेाई

Ques # :140

The Varna system of India during the post vedic period was based on ?
1) Birth root
2) Quality and actions
3) Occupational Identity
4) Traditional Determination

उ�तर व䇢切दक काल म� भारत क遨� वण䊳몀 䊫㪀यव䗫㎀था का आधार था ?
1) ज	म मलूक
2) गणु कम耈Ȅ
3) ध	धगेत पहचान
4) परपंरागत 汴楴नधा耈Ȅरण

Ques # :141

The book " Caste in Contemporary India ( 2014 ) " is written by ?
1) Manish Thakur
2) Rani mehta
3) S.S. Jodhka
4) Anjali Dave

" का䗫㎀ट इन कंट�ेपररे䆈� इ䉦ं退डया ( 2014 ) " प䗫㎀तक के लखेक ह ै:
1) मनीष ठाकुर
2) रानी महेता
3) एस. एस. जोधका
4) अजंल⁮尽 दवे

Ques # :142

Who was the first sociologist to explain the difference of culture and civilization ­
1) Alfred Weber
2) Maciver and Page
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3) Ogburn
4) Leslie

स遨�यता और स䗫㎀कृ䆈�त के बीच अतंर करन ेवालो म� सव䊳몀䆈�थम समाजशा䗫㎀섷䠀ी कौन था ?
1) ए-�ेड वबेर
2) मकैाइवर एव ंपजे
3) ऑगबन耈Ȅ
4) ल.ेल⁮尽

Ques # :143

The book " The Great Indian Middle Class " is authored by ?
1) Andre Beteille
2) P.K. Verma
3) B.B. Mishra
4) I.P. Modi

" 䇢切द �टे इ䉦ं退डयन 䆍�म䉦退डल 栘लास " 䈟ꐀकस लखेक �वारा 䆍�लखी गई प䗫㎀तक ह ै?
1) आ�ं ेबतेई
2) पी.के. वमा耈Ȅ
3) बी.बी. 彥条म<ा
4) आई.पी. मोद⁮尽

Ques # :144

Role of woman is determined by ?
1) Manish Thakur
2) Sex­difference
3) Gender Difference
4) Woman herself

म䇢切हला क遨� भ䆍�मका का 䆈�नधा䊳몀रण 䈟ꐀकसके �वारा 䈟ꐀकया जाता ह ै?
1) प漠㴠ष
2) 彥条लगं 彥条भ	नताएँ
3) 彥条लगंानपुात 彥条भ	नता
4) म潴捥हला .वयं

Ques # :145

Which is not related to woman's role determined by gender inequality ?
1) Teaching
2) Cooking
3) House Cleaning
4) Sweatering

䆍�लगंानपुात 䈴वषमता स े䆈�नधा䊳몀�रत म䇢切हला भ䆍�मका स े䈟ꐀकसका स�ब䆈�ध नह䆈� ंह ै?
1) अ�यापन
2) भोजन पकाना
3) घर क畣潤 सफाई
4) .वटेर बनुाई
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Ques # :146

When was the Woman's Policy formulated to empower woman in India ?
1) 1996
2) 2001
3) 2008
4) 2013

भारत म� म䇢切हलाओ को सश栘त बनान ेहते ुम䇢切ह�ला नी䆈�त कब बनायी ंगई ?
1)  1996
2)  2001
3)  2008
4)  2013

Ques # :147

The untouchable castes in India were given a new name scheduled castes by
1) Mahatma Gandhi
2) B.R. Ambedkar
3) Simon Commission
4) Jawaharlal Nehru

भारत म� अ䗫㎀प䆈�य जा䆈�तय� को अनसु䆈�चत जा䆈�तओ का नया नाम 䈟ꐀकसके �वारा 䇢切दया गया ?
1) महा4मा गाधँी
2) बी.आर. अ	बडेकर
3) साइमन कमीशन
4) जवाहर लाल नहे漠㴠

Ques # :148

Who gave the concept of the " culture of poverty " ?
1) Marx
2) Dandekar and Ruth
3) Levis
4) Mayer

" गर䆈�बी क遨� स䗫㎀कृ䆈�त " क遨� अवधारणा का 䆈�न￱�पण 䈟ꐀकसन े䈟ꐀकया ?
1) मा/स耈Ȅ
2) डाडंकेर एव ंरथ
3) ल祴े献वस
4) मयेर

Ques # :149

Which of the following sociologist explained six dimensions of communalism ?
1) T.K. Ooman
2) S.C. Dubey
3) P.N. Prabhu
4) P.N. Mukerjee

䆈�न�न䆍�ल䇛खत म� स े䈟ꐀकस समाजशा䗫㎀섷䠀ी न ेस�䆈�दायवाद के 6 आयाम� का उ�लखे 䈟ꐀकया ह ै?
1) ट⁮尽. के. ऊमन
2) एस. सी. दबुे
3) पी.एन. :भु
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4) डी. पी. मखुज敬敓

Ques # :150

The " differential association theory " of crime is propounded by ­
1) Cloward and Ohlein
2) Cohen
3) Sutherland
4) Becker

अपराध के 䆍�भ䆈�न सहचय䊳몀 䆍�स䌍讀ातं (डी㾀��䆍�सअल एसो䆍�सएशन 䆍�स䌍讀ातं) का 䆈�न￱�पण 䈟ꐀकसन े䈟ꐀकया था ?
1) /लोवाड耈Ȅ एव ंओह彥条लन
2) कोहन
3) सदरल畱⹴ड
4) बकेर




